Year 5 Autumn 2 Maths Activity Mat 4

Section 1 Section 3 Section 4 Section 5
Complete this number line: Calculate: Order the following The numbers in the
. 7 1 | fractions from squares are the sum of the
6 2 . 5 8 & smallest to largest: numbers in the adjacent
s 9 1 circles. Find the numbers
1o 10 10 10 in the circles.
Section 2 6 1 2
A bag contains 120 potatoes. A grocer has 7 bags. .3 3 9 , 91 117
To the nearest 100, how many potatoes are there in -
the bags? D smallest largest 33

e Some children measure
HQEDE_FE ... the temperature of some
JOf e ooion hot water as it cools.
; .n They draw this line

Section 6 Section 7 Section 8 _
1 inch = 2.5cm Write the names of these shapes: v

Complete the following:

3
. =5 graph.
12 inches = DnS g .
D.Snrmm =1m & How far does the
S , - temperature fall in the
90|t s first 4 minutes?
Lo r 23 A
. Time/mins .
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Year 5 Autumn 2 Maths Activity Mat 6

Section 1
I am a 2-digit number.

I am odd.
I have six less tens than ones,

The sum of my digits is 8.

Section 2
Write the factor pairs of 12.

Write the common factors of

i

Section 3

T-shirts are put into packs of
4. How many packs will be
made from 132 T-shirts?

Section 4
Use this visual
representation to calculate:

2%+ x2-=

-

Write the following fractions
as percentages:

What is the area of this
rectangle?

4cm

7cm
(Not to scale.)

]

Measure this angle:

RAY4A
What am I? 5 and 20. //r\ E
N ]
] N R IANPANY,
Section 5 Section 6 Section 7 Section 8

Reflect this shape about the
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Year 5 Autumn 2 Maths Activity Mat 3

Section 1 Section 2 Section 3 Section 4
Count backwards in 10s. Write 3 prime numbers Calculate: Shade the other two circles so
76 between O and 10. Ewg= that the same fraction is shaded
_ in all of them.
219 9x7 = '
Count backwards in 100s.
701 bx6= _
1180 11 x 10 = ,
Section 5 Section 6 Section 7 Section 8
Round the following - Osman runs for 35 On this grid draw a rectangle Translate this shape from point A

numbers to the nearest
whole number:

8.8

7.5

12.7

34.2

UL

minutes, finishing at
4.20pm. What time did
he start?

]

where the longer side is one
and a half times the length
of the shorter side.

to point B.

B

2 ~

twinkl.co.uk é
o
4




= _
é Mo puIm} ¥ %
¢dnoab uvah ayy u1 uaapyd Aunw moH ﬁ q {0y v pup sauy;
—
0T uoong fyows
6T 4obBauip 9 oS auo jutod uaazauiu
L uouQ % assay) —
e payos fipnay
x1s juiod unof
JaquinN AnoAny4 ¢9PnuUowo)
‘dnoub unah o u1 uaipnyo Jo sdsiio "adoys yova fig Jo upo Jwpge b W 'S]pJawnu U
211dnoAnf ay1 Bummoys ajqpy v s1 auaH 4p]nbaui pup Jonbad a31pn sau31] fiupw  moH sdaqumnu buimoijof ayz anupp
8 uo1309g L uo1322s 9 uondag g u01399s
) ﬁ
=0T + 0906 _ =E&7-1L g
2 oL — —
L z :
) ﬂ =€~ 6% q
< z — ﬁ
L £ —_— _ =GE + 9¢ q
= 0T x 202 — 2onyd
Iw- .ml S _ - 77 + 97 SaU0 Y} Ul 6 D pup 2op)d
O v OT x /g Spupsnoy; ay3 u1 / o ‘aomd
= x
:Su0119D.f asay3 asndwos . ‘poay Jnoh SpuUDSNOY} palpuny ayp
0} subis < 4o > ayp asn ‘2102109 ur buimopof ayy aymmoy ¢ D YPM siaqunu £ a3lipn
# U013025 € U01393§ Z uonoas T uonoas

Z W hnaoy sypo z uvwngny g anop



Year 5 Spring 2 Maths Activity Mat 6

Section 1
I am a two-digit number.

I am odd.
I have four more tens than ones.

The sum of my digits is 10.

Section 2
Write the factor pairs of 15.

Write the common factors of
four and 20.

Section 3
Socks are sold in

packs of five pairs. ,

How many packs
can be made from

145 pairs of socks?

i— ]
]

What am 1? :
Section 5 Section 6 Section 7

Write  the following What is the area of this Measure this angle.
fractions as percentages: rectangle?

5cm

6cm

Section 4
Use this visual representation to
calculate:

DD
J 9 9 )

Section 8
Reflect this shape about the line AB.

A
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Year 5 Spring 2 Maths Activity Mat 3

Section 1 Section 2 - Section 3 | Section &4
Count backwards in 10s. Ring the prime numbers: | Calculate: Shade the following rectangles so
" . k that the same fraction is shaded
6 x3= _ in both and write the fraction that
127 O 12 3 4 5 each represents.
9 x5 = _
Count backwards in 100s. 6 7 8 9 10
Section 5 Section 6 Section 7 Section 8
Round the following decimal The Spanish  lesson On this grid, draw a Translate this shape from point A
numbers to the nearest starts at 12:55 and ends rectangle where the longer to B.
whole number: at 13:35. How long is side is three times the length
the Spanish lesson? of the shorter side.
4.5 )
3.2 _
9.7 -
. rlll
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ar 5 Spring 2 Maths Activity Mat 5

Section 1
Write these Roman Numerals
as numbers.

ooy — (]
oot ——[ ]

Section 2

Draw a square to represent
the number 36.

Section 3
Calculate:

1 6 7 y
3

Section &
Calculate:
2 2
5 *5 7
)
5 _ 1.
6 6
L
Section 8

Here is the High Peak Steam Railway timetable.

Rowsley (depart) 13:28

Section 5
Write the following decimals
as fractions:

Section 6

One gallon of petrol
is approximately 4.5
How many litres is
equivalent to  two
gallons?

|

Section 7
Label the internal
angles of  this
parallelogram:

Darley Dale (arrive) | 13:33
Darley Dale (depart) | 13:35
Matlock (arrive) 13:50
Matlock (depart) 14:00

Darley Dale (arrive) | 14:15
Darley Dale (depart) | 14:17
Rowsley 14:22

How long is the journey from start to finish?

| J

The long does the train wait at Matlock?

L]
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Year 5 Spring 1 Maths Activity Mat &

Section 1 Section 3 Section &4
Complete this number line. Calculate: Order the following
fractions from smallest to
-2 3 561 517 || largest.
7 3 9 1
Section2 456 - 342 10 10 10 10
A high speed train has six coaches of 74 seats and 2 coaches of 48 seats.
How many seats are there on the whole train rounded —
to the nearest 1007? . ﬁ q
. Section 8
Section 5 Section 6 Children count the number of children who have a
Adjacent squares are added 1kg = 2.2lb (pounds) jacket potato each day.
. together to give the number Complete the following: Number of children who
above. Complete the number 3kg = b Week have a jacket potato
. wall. Monday 13
kg = 11lb Tuesday 24
Wednesday 19
Section 7 Thursday 20
2.1 Write the name of these shapes. Friday 5

Which day did the least number of
children have a jacket potato?

How many more children had a jacket
potato on Tuesday than Wednesday?

0.3 0.6

i
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Year 5 Spring 1 Maths Activity Mat 6

Section 1
I am a two-digit number.

I am even.

I have five more ones than
tens.

The sum of my digits is 11.

What number am I?

i

Section 5
Ring the correct percentage
to match the following
fractions:
50%

25% 75%

=

Hw

30% 75% 40%

Section 2 Section 3 Section &4
Write the factor pairs of 14. 64 equal pieces of Use this visual representation to
ﬁ w pizza are cut from calculate:
8 pizzas. Into how 12x2=
Write the common factors of 5 many pieces is 3
and 15. each pizza cut?
Section 6 Section 7 Section 8
What is the area of this Draw an angle of 60° Reflect this shape about the line AB
rectangle? A
3cm
8cm
[ ) s
; i

< -

visit twinkl.com é‘.
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Year 5 Maths Activity Mat

Section 1
I am a 3-digit odd number.

I have the same number of hundreds
as ones.

1 have one ten.

The sum of my digits is 15.

What number am I?

Section 2
Write the factor pairs of 24.

| J

Write the common factors of 6 and 18.

| J

Section 3

Jack is asked to share 9 boxes of 12
pencils between 3 classes. How many
pencils does each class receive?

Section 4

Calculate:

Section 7

Draw an angle of 135°.

Section 5 Section 6
Match the following: Which rectangle has the
smaller area?
* 20%
9cm 7cm
= 25%
bcm A 6cm B
-wl 75%
Section 8
Reflect this shape about the line AB.
A
B

é**

twinkl.co.uk
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Year 5 Maths Activity Mat

e

0

Section 1

Order these numbers from smallest to largest:

576 094, 567 094, 576 904, 567 904

P

Section 2

Round these numbers to the nearest 100 000:

Section 3

Use these signs < or > to show
which number is greater than or

Section 5

Draw lines to show which
fractions, decimals and
percentages match.

m 40% 0.01
< 1% 0.7

&= 70% 04

Convert these measurements in litres to millilitres:

12.431

6.8l

_mmw than.
367 562 —»
48 701 48 710
453 378 —>
81010 80 999
b,
Section 4

Section 7

A shop assistant sold £845
worth of perfume. This was
£258 more than yesterday.
How much did she sell
yesterday?

. Section 6
Complete these calculations:

6396 + 3 =

Section 8

- Write these Roman numerals
as digits:

_ CCLXVI _

# CCCLXXIV _

o

Page 1of 2
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Year 5 Maths Activity Mat

In order from smallest to largest,
write the following numbers in digits:

four point seven two

Calculate the perimeter of these composite
rectilinear shapes.

Explain why this shape is regular.

girls in each year group.

Here is a table showing the number of boys and

a "y 4 A
Section 1 Section 2 Section 3 Section 4
In the number 576 213, which digit represents Calculate the following in your head: Calculate: Use the < or > signs to compare these
the number of ten thousands? fractions:
—
. 2 4
48 + 36 = 5.61x 100 = 5 -
In the number 923 648, what place value does — 1 3
the digit ‘3’ represent? 70 _ 26 = 912 + 100 = 4 5
) 17 4
Q1 — 67 = 6002 + 100 = _ v 20 T
% & . A # Yo
i ,
4 ) *
Section 5 Section 6 Section 7 Section 8

4em
Y3 | Ya | Y5 | Y6 Total
four point seven 8cm _ B R
Sem Boys 45 179 !
forty point six nine 7em Explain why this shape is irregular. Girls 47 37 39
12em
3cm Total 89 | 89 | 87
Tlem =
smallest largest T . Complete the table.
4em
) e aaaas reeeas eveveeraees { ]
Page 1of 2 twinkl.ciusk
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Year 5 Maths Activity Mat ®

F > X ' 3
Section 1 | Section 5 Section 6
The temperature is 4°C at 9pm. By 6am the following morning, the temperature has fallen by Place three of the following numbers in the circles 1 inch = 2.54 cm
9°C. What is the temperature now? so the number in the square is the total of the
numbers in the adjacent circles: 6.23, 4.72, 3.09, 1 foot = 12 inches
7.26, 5.16, 2.69
. How many centimetres in
Section 2
_ The new Wembley Stadium has 90 000 seats. When the stadium is 75% full, what is the Q.88 7.81
attendance to the nearest 1000. ,
8.25
{ A B - ")
Section 3 A , , 5 Section 7 Section 8
Comptete these Write the name of these shapes: Children measure the temperature in the
calculations: + 6 9 - 3 7 playground on each hour.
2 5 5 2 Time Temperature
Qam -1
e s 10am 2
- \ 1lam 5
. 12pm 7
mmﬂ.ﬂ—.o—,—. N—. ........ fereereeeeereairaraeanraes remesiranarararirarrias o 5
Order the following fractions from smallest to largest:
SR A R When is the highest temperature?
4 1 8 16
How much does the temperature rise between
9am and 12pm?
Joo ST R I ¢ )
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Year 5 Maths Activity Mat

®

Round the following numbers to the
nearest whole number and nearest tenth:

Number Nearest Nearest
whole tenth

16.45

1.06

2.98

67.59

A bus journey starts at 16:13
and finishes at 18:05. How long

is the journey?

For each of the following shapes,
explain why they are or are not a

rectangle.

™ ~ o N N
Section 1 Section 2 Section 3 Section 4
Complete these linear sequences: Put the numbers from 1 to 20 on this Calculate: Shade the following circles so the
; Carroll Diagram: same fraction is shaded in both and
| 4562 | 5562 Nota 40 x 6 = _ _ write the fraction that they represent:
Prime .
Prime
\ Number Number
41786 | 40 786 :?D
Even
77309 | 87309 number 80 x 30 = _ _
. \ Odd
622 792 | 612 792 number 1200 x 11 =
A\ _J b o P
F* s = 7 %
Section 5 Section 6 Section 7 Section 8

Translate this shape from point A to point B:

Page 1of 2
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Year 5 Maths Activity Mat

Section 2
Write the factor pairs of 36.

Section 6

Section 1
I am a three-digit number. I am odd. The sum
of my digits is 10. The tens digit is even. The
ones digit is half the tens digit. I am more than
600.
What am I?
Section 5
Match the following:

1

.w.. 50%

1

Nl 20%

4

= 25%

..Wl 80%

.W. 40%

Which rectangle has the larger area?

12em

not to scale
3cm

8cm

4em

Section 7
Draw an angle of 135°

Section 3

Football cards come in
packs of four cards. Three
children buy 36 packs

of cards. They share the
cards equally. How many
will they have each?

Section 4

Calculate:

Section 8

Reflect this shape about the line AB.

Page 1of 2
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Year 5 Maths Activity Mat O,

r ™y s

Section 1

Order the following numbers from smallest to largest.

Section 3

| 471741 | | 417 471

La71174 | | 417741 ) [ 471417

Fatima has 36 cakes to share with some friends. She could share the
cakes so 36 children have 1 cake each. Explain four other ways she
could share the cakes equally without cutting the cakes.

h ﬁ ___ childrenhave  cakes each. ___ children have _ cakes each.
smallest largest ___children have  cakeseach. ~ children have  cakes each.

v #
Section 2 Section 7

Three classes of children raise money for Comic Relief by selling cakes. Each class is given £17.80 to buy ingredients. At the end of the
sale, each class counts how much money they have. The classes have £34.82, £29.01, £41.78. After subtracting the amount given to buy

ingredients, how much money is raised?

Calculate the missing angle:

. Section 4 Section 5 Section 6
Complete the table to convert Write the equivalent to Calculate the perimeter of these rectilinear shapes:
between mixed fractions and the fractions and decimal e
improper fractions. fractions. mB Section 8
E 4 [ 3 ‘ Estimate how many millilitres in a mug.
4 4
1
57 0.667
1 5
3 8 J
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Year 5 Maths Activity Mat

7

Section 1

The temperature is -8°C. Two hours
earlier, the temperature was 6°C warmer.
What was the temperature two hours
earlier?

.

~

Section 3

s 7]
+ Dg
8 1 1

6 ]2
-([Jo[ ]

2 6 3

Section 4

Order the following fractions from
smallest to largest.

2 115 13
3 1 6 18
smallest largest

Section 2

Here are the weekend cinema takings for
29™ April - 1% May 2016.

Captain America £14 466 681 _

The Jungle Book

ﬁ £5 758 824 _

What was the difference in takings
between the two films, rounded to the
nearest thousand?

Section 6
Tkg =~ 2.2lb (pounds)

1 stone = 1lb

How many kilograms in
one stone? Give your
answer to two

decimal places.

Section 7
Draw a triangular prism.

Section b

Adjacent mﬁ?p_ﬁm are added together to
give the number above. Complete the
number wall. :

13.76 11.04

6.83

Section 8

Children measure the height of a sunflower once a week. They

record their measurements in a table.

Height of y
Week | sunflower
(em)
Week 1 3
Week 2 10
Week 3 18
ﬁ Week 4 27

30
25

20
E 15

v}
10
5

0

Draw the line on the graph.

Height of Sunflower

i
week 1

T 1 T
week 2 week 3 week 4

Page 1of 2
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Year 5 Maths Activity Mat ®

Section 1 Section 3 Section 5 Section 6
I am a 3-digit number. Lucas collects 5p coins. Complete the table by Which rectangle has the larger area?
I am odd. When his jar is full, writing the equivalent Sem
. he shares the money fraction or percentage: T1em
[ have twice as many between 3 local charities. ) , ;
hundreds as tens. He counts the full jar and ) A0% S5cm cm
I have twice as many tens has 255 5p coins. How 5 °
as ones. much will each charity
ive? 33%
What am I? recetve: M °
] o ; k
, / Section 4 1 Section 8
[ A Use the visual Reflect this shape about the line AB.
Section 2 representation to calculate: m. . A
Write the factor pairs 2 i ) ’
O-._n wM mw.. X N_( = . y
_ w ‘ .. | Section 7
v Draw an angle of 165°.
Write the common
factors of 9 and 27.
B
\, v S o X o B 5
é visit twinkl.com gﬂ
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Year 5 Spring 1 Maths Activity Mat 1

Section 1

Order the following numbers from smallest

Section 2

Three children have £4.85

Match the mixed
fractions and
improper fractions.

Match the following
fractions to the
equivalent decimal
fraction.

r n'

0.75

Uif=

Hw
o
(S

7 3
2 2%
8 22
3 E
11 31
4 |7 2

N =
©
N

to largest. altogether. None has more than £2
1212 1122 2112 1221 or less than £1. How much could
they each have?
smallest largest ﬁ w — _ H ﬂ
Section 4 Section 5 Section 6

Calculate the perimeter of
these rectangles:

5cm

8cm

10cm

*not to scale

Section 3
Eric wants some pizzas cut into 16 pieces. He
could have one pizza cut into 16 pieces. Explain
3 other ways he could share some pizzas into
16 pieces.

pizzas cut into pieces.
pizzas cut into pieces.
pizzas cut into pieces.

Section 8
Estimate the capacity
of a glass of water in
millilitres.

Section 7
Calculate the
missing angle:

115°

*not to scale D
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